Vocabulary used when doing division:

1 5'\ quotient

8 | 120
/ \
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What must be true for a number to be a factor of another number?

There must be NO remainder when they are divided.

Is x + 4 a factor of 2x* — 12x* + 8x — 20 No, the

[% remainder
2 . isn't zero!
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Ways to leave a remainder.
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Is x+1 afactorof 3x® - x2 +5x-9?  No, the

remainder
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Find this quotient.
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Find this quotient. 6x5 +x* +8x3 + 5x2 = 30x + 6
x243
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Find this quotient. 6x* +20x3 — 17x2 + 66x — 24
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You can now finish Hwk #29 Sec 6-3

Page 324 Due Tomorrow

Problems 3, 4, 8-10, 38, 41



